1/16 R—T

ErFalttwE - AOxR (BEA)

SHSF4R1BHRAE
T % it 7 & 5 z &t

R H 0 0 0 0
R F{LE 0 0 0 0
FHEERTTHE 0 0 0 0
FHZERT P RE 0 0 0 0
HHEETE S 8 13 13 26
FHERTT Y 0 0 0 0
FEERT R R 0 0 0 0
FEEERT/NE 21 38 39 77
HERRAH 1 3 2 5
HENARHE 16 20 26 46
AEAT= A © 0 0 0 0
FHERT S H 0 0 0 0
FHERTR AL 2 2 2 4
HERTE A 0 0 0 0
R E 11 10 16 26
FHZERTEE)I 18 25 24 49
HHEETEM 0 0 0 0
FEEEHT A 4 7 8 15
FHZERTH H 16 22 21 43
HERTET 0 0 0 0
EELDED] 4 5 4 9

EELIICED 101 145 155 300
KIFETFEE AR 66 67 66 133
KIFETA O 0 0 0 0
KIRBT 548 87 56 61 117
KIRHT N E L 0 0 0 0
KIRETEF L 143 155 157 312
KIFETKH 0 0 0 0
KIFHT % 0 0 0 0
KIRETRE I 73 96 88 184
KIFBTHE = 48 63 57 120
KIFBET EFE 0 0 0 0
AIFETERE 45 70 60 130
KEETERE 0 0 0 0
XNIRET Bl 63 79 91 170
KIRET = 60 63 66 129
KIR BT 20 29 25 54
KIZBTHLN 23 21 21 42
KIRHTEL E B 62 75 81 156
KIFETH iR E 5 8 9 17
KIZBT/NEE 39 44 45 89
KIFHTEF 66 79 84 163
KIRHETSE1E 75 99 96 195
KIFET T2 0 0 0 0
KIFETTRE 52 77 75 152
KIFHT+HBE 58 77 83 160
KIRHTH 0 0 0 0
KIRETKFY 103 83 118 201
KIRET b 7 15 18 19 37
KR 1 1 3 4
KNIFET L 0 0 0 0
KIFHTTE S 60 A 67 138
KIRHT T E B 104 120 132 252
KIZETE i 8 7 10 17
KIFET imi 10 17 10 27




2/16 R—=2

I il &t

KIFHT/\ i 18 26 26 52
KIZATR L 0 0 0 0
RIFHTH & 40 58 50 108
KIFHTR 0 0 0 0
KiZETEH 0 0 0 0
KIZHTF R 83 106 118 224
KIFHT L4 70 97 90 187
KIFHTE# 73 91 80 171
KIFHETIAT 3 2 3 5
KIZHTH& 46 51 39 90
KIFHTAWL 237 252 296 548
KIFHTRI 244 0 0 0 0
KIFHTRA[E L 24 21 27 48
KIFBTF % 4 6 4 10
KiFETIL /R 42 40 42 82
RIFHT 7 BE 2 3 2 5

KiZHT &t 1,928 2,228 2,301 4,529
BEET—TH 0 0 0 0
BEETZTH 162 105 116 221
BEET=TH 36 43 24 67

BISET S5t 198 148 140 288
=RETESH 53 58 58 116
R gt 94 95 119 214
=RET=5 39 46 47 93
=BT 87 94 107 201
=RETRE 95 106 107 213
=ZRHETAS 64 67 79 146
=RHETEH 174 208 184 392
=HHET/\E 156 163 184 347
=RET A 127 122 147 269
=BHBT 5 101 125 116 241
=RIER 0 0 0 0
=RHETHRR 22 22 16 38
=ZRHETE 12 17 15 32
=AREFER 36 37 52 89
=BT LB 25 32 24 56
=RETRTE 11 21 11 32
=HERTIR 6 4 6 10
ZHHXE 0 0 0 0
=HHETRE 13 14 11 25
=BT E 2 0 0 0 0
=&MHIIR 41 49 43 92
=RHETILFF 0 0 0 0
=AETILEF 2 4 2 6
=R/HETINR 0 0 0 0
ZREETR 0 0 0 0
=H/HET AR 3 5 7 12
eV E 31 41 29 70
=AMEE 0 0 0 0
=ZHEINE 0 0 0 0
=#HE/NE 28 27 23 50
=RHETEDIS 17 14 16 30
=AETARHE 4 4 6 10
=REURE 0 0 0 0
=AHEFYH 0 0 0 0
=HHETIERRRE 31 33 27 60
=HHETIEE 1 1 2 3
=RETEE 12 12 16 28




3/16 R—

I il &t

=BT K FRET B 10 13 12 25
=H/HTER 190 203 213 416
LB TEES 53 68 63 131
= AETEREAL 139 148 150 298
=RHETIA4E 39 44 47 91
=AEEH 80 73 65 138
=H/HETR 80 92 102 194
=AHETHER 32 22 29 51
= A HETIRAT 17 17 21 38
=T 59 59 76 135
= EPSE 0 0 0 0
=ZHRETER 52 44 33 71
=ZAHETFEMA 42 49 49 98
=AW 11 14 10 24
=R/ETZARK 0 0 0 0
=BETHRAR B 5 8 7 15
ZBEHE 0 0 0 0
=HHTE 15 24 22 46
=R 8 7 5 12
=H/ETR—TH 152 174 160 334
=AHR=-TH 274 317 316 633
=HRETR=TH 125 146 157 303
=RETRETHE 155 166 174 340
=RETRATH 205 233 246 479
=RETRE 0 0 0 0
=BT 137 125 152 277
=&E¥0O 59 65 60 125
= RHETHRETE 21 27 23 50
=RHETE 0 0 0 0
=g N 0 0 0 0
=AHETATHE 70 68 95 163
= A ETHRAT 27 34 29 63
=ZAREARF 2 3 4 7
=ZRETETE 45 66 69 135
=RETEFF 2 0 2 2
=R 8 11 7 18
=R 2 2 3 5
=RHBTFISL 4 4 6 10
=RETHE—TH 95 100 105 205
=RETHAEZTH 104 127 133 260
=RETHAE=TH 108 129 129 258
—AmEE 239 268 273 541
=& |t 3,951 4,371 4,501 8,872
=#dE—TH 149 164 170 334
=#dEZTH 271 298 305 603
=#dE=TH 272 344 342 686
=#dEmTHE 102 126 126 252
=#dBERTH 258 293 293 586
=#&dEATH 201 236 252 488
=#&daE &5t 1,253 1,461 1,488 2,949

THET EARHE 47 64 72 136
THET ERRE 5 4 6 10
THETHERHE 21 29 24 53
THETTFARHE 17 25 27 52
FHETTFRR 35 38 42 80
FHETRIR 75 94 104 198
FHETERR 42 57 44 101
THEZRH 2 2 5 7




4/16 R—

I il &t

F HHETHTE 13 13 7 20
FHETAT 22 37 29 66
FHETE 89 105 92 197
- F BT A B 35 13 36 49
FHHT[R 5 H 0 0 0 0
F H BT e B 0 0 0 0
T HETFH 33 30 24 54

FHET &5t 436 511 512 1,023
EREETFRD v ) 11 18 23 4
= [ T B[R 2 3 5 8
EREETIRF 21 30 29 59
£ fiEl BT Sth B 49 65 59 124
SRETEH 70 83 88 171
ST 3 2 3 2 5
SRR F 101 117 119 236
S REET K8 0 0 0 0
SRETHER 41 66 56 122
= [ BT8R 8 ZEAR 56 59 57 116
ST EAR 0 0 0 0
S rEET L RIR 17 19 25 44
S E T BT E 47 54 56 110
= REHT) |5 25 33 35 68
ZRETIIEZY 34 55 58 113
SREHETIIE 48 54 55 109
= [T E R 0 0 0 0
SRETRSE 11 11 15 26
= BT E AT ) 1] 38 43 56 99
S REET/NE 21 22 23 45
S REET/N LI 1 1 2 3
G LEN:: 36 47 46 93
SRR 9 12 14 26
S RETEK 6 7 6 13
SHEETTAR 42 58 50 108
SEHT T RIR 21 26 28 54
L RE BT FRTE 94 112 124 236
ST A 9 11 10 21
S REETER / 1L 16 19 17 36
SREETRYH 6 6 10 16
ST ATR 0 0 0 0
SRETRA 14 19 15 34
= [ BT BP9 64 89 92 181
SRETHRAR 9 15 11 26
SREHETH/ B 7 7 10 17
SRET 4 1 1 1 2
SREETHER 34 46 45 91
EREETFERM 65 84 93 177
£ E| BT 78 K H 9 8 11 19
S REETE L 7 11 13 24
EmETE W 90 99 111 210
L ERTE 21 24 24 48
SRETEY B 15 20 23 43
£ fE BT 5E it 28 36 47 83
S REET 4R B 57 82 66 148
SREATRAH 27 26 32 58
= [ BT R R 0 0 0 0
= [ BT S AP 51 64 69 133
S REET AL 33 37 35 72
SRET{AR 1 0 1 1




5/16 R—

I ol S &t

SRS 8 9 7 16
EEETATE 41 42 4 83
SEHTH Y B 0 0 0 0
SREATIAEE 15 16 21 37
ST L 2 87 132 120 252
EEETET 2 0 3 3
EREETE L 15 11 22 33
SRRV B 13 15 24 39
ST\ H 7 13 9 22
SREATEHA 46 60 62 122
SEHETILEA 3 5 4 9
2 RE BT LU AR 0 0 0 0
= [ T 25 3 0 0 0 0

SREET S5t 1,604 2,005 2,080 4,085
T FHTRE 8 9 13 12 25
FHHET ERAR 0 0 0 0
AHHENHF 4 6 5 11
AHHSIE 2 2 2 4
AHBTEILE 5 7 9 16
AHETARHE 76 21 88 109
FHBETFRAR 11 13 14 27
FFHETREE 6 7 6 13
FFHETER] 5 6 8 14
F FH BT 4R 53 64 77 141
T FH BT RS 26 34 38 72
FFHETEEILEE 0 0 0 0
EELIEY 24 36 23 59
FHBETRILEE 2 4 2 6
FFHETEE 13 21 22 43
AFHETILG 3 5 4 9
B HHETILE 1 2 2 4

AHET Bt 240 241 312 553
KA BT 3 4 8 7 15
JKAT BTt T 26 32 30 62
KT BT — R B 35 45 45 90
IK T BT KHE 42 59 63 122
KT BT 4 4 3 2 5
JKATET L& 59 A 69 140
JKAT BT L B 2 3 1 4
JK Ay BT k- #ifi BB 0 0 0 0
SN PN 49 66 69 135
JKIT BT K it 47 57 52 109
I BT 447 1T 1 1 1 2
KBTI T & 67 74 90 164
KT BT /INRE 32 38 38 76
KPTET &I 55 68 69 137
JKATET T E 23 34 27 61
JK KT BT T #ifi EB 0 0 0 0
IKFTET IR 8 11 12 23
IKATHT T K5 51 68 65 133
IKETETF 4 232 298 304 602
JKATET R E /i 15 17 9 26
I TR ) 1R 0 0 0 0
JKFTET B /NRE 33 49 44 93
KA ETFE R A 47 76 59 135
KBTI K 4 48 46 94
JKATETEE T4 0 0 0 0
KHET LY & 60 83 83 166




6/16 R—

I tH H 5 z &t

JKPT BT TE# 67 70 76 146
JKATET 8 107 118 127 245
USVEES 30 59 70 85 155
USVES S]] 21 29 21 50
USVEIE S 32 37 45 82
SHEIEY 56 79 78 157
I BT F K 11 12 15 27
IR BT R IR 17 11 16 27
IK P BT AT 44 56 70 126
JKAT BT R 36 55 51 106
JK T BT % 7% 14 11 18 29

JKATET &t 1,397 1,757 1,787 3,544
BHEER 0 0 0 0
A HBT—IR 43 55 61 116
BHETHF 7R 1 1 1 2
AHETXO 0 0 0 0
;5 BT KEAFD 0 0 0 0
775 EA BT 16 24 29 53
75 H BT R Al 5 2 5 7
i E BT E 26 43 38 81
BHENER 3 4 2 6
BHERT 1 3 3 6
A HET EHE 2 3 2 5
A HET EXA 9 15 13 28
AHETEE 15 27 24 51
75 E BT L 13 16 13 29
& BT 0 0 0 0
B HETRH 19 17 23 40
BHETARBE 2 2 0 2
BHE=RHE 56 72 68 140
BHETHE 41 68 68 136
HHETTAR 17 26 24 50
AHET TR 48 62 72 134
75 H BT T 4 46 57 54 111
75 E BT RE A 0 0 0 0
ABET /T 0 0 0 0
JSHETH/ A 1 1 0 1
AHETPHE 20 30 24 54
BHETER 55 80 70 150
A HETFRER 0 0 0 0
A HEETE IR 3 5 6 11
HHETEE 3 2 4 6
B TS 107 119 136 255
HHBTRAR 9 14 11 25
5 HET SRR 0 0 0 0
AHETREH 10 13 10 23
AHETERE 3 5 4 9
A HETER 0 0 0 0
;5 HETATE 58 79 61 140
& HETREE 61 80 84 164
i EH BT = B 2 3 4 7
;& EHETFI A 31 39 47 86
i HETHIE 2 3 3 6
AMETIL/ B 2 4 5 9

SHET &5t 730 974 969 1,943
RAHET A 2 2 5 7
RAETKO 0 0 0 0
RAETKIR 0 0 0 0




7/16 R—2

I il &t
RAEES 0 0 0 0
IRAHTT U 4 14 20 20 40
RAHTLH 1 1 3 4
RAHETIRO 2 2 1 3
RAHT B 1 3 1 4
RAHETEH 4 4 4 8
RABTHER 21 30 38 68
RAETIR 7 10 11 21
RAET SR H 4 5 5 10
RAHTHTEA 2 4 3 7
RAHETIR/ R 1 0 1 1
IRAHTEIR 7 8 12 20
RAHETZRLL 2 2 3 5
YR AHT [ S8 10 15 15 30
RAHTEFIL 0 0 0 0

RAHE &5t 78 106 122 228
4/ SERHT R 4 11 16 17 33
4/ T R 1% 0 0 0 0
4/ SETERTH 3 4 6 10
4/ SRET £ 57 2 4 4 8
4/ e E 4 6 10 16
4/ ST KHT 3 8 6 14
M/ M KE® 23 32 31 63
4/ SRETEIRAIE 20 27 28 55
M/ HETT YUAS 3 6 2 8
4/ ERET 4 B 0 0 0 0
4/ BT R T 1 1 1 2
4/ RT3 11 11 12 23
4/ ST EiE 3 5 3 8
4/ SERET £ & HR 4 4 6 10
4/ SERET kALl 14 17 22 39
4/ TR 0 0 0 0
7/ BETE R 1 1 1 2
4/ R E R 3 5 4 9
M/ SR AR H 2 2 5 7
4/ SBET T i 7 8 9 17
4/ SERBT T [ L 69 61 72 133
4/ SEBET T PIAT 12 18 15 33
4/ SERET B FIR 0 0 0 0
4/ SERETI L 1 1 1 2
4/ SRET AR 0 0 0 0
9/ SERHT 3B /7 U 70 84 68 152
4/ SBET = AR 0 0 0 0
4/ IS 2 1 3 4
4/ $ERET BT E 0 0 0 0
4/ SETH O 7 13 10 23
4/ ST BY 35 9 13 15 28
4/ EET - E 5 8 10 18
4/ SERET A ) LU 21 33 32 65
4/ SETHILA 19 28 22 50
4/ 4ERET 78 P AT 21 42 40 82
4/ SERET 16 20 20 40
4/ R ERII R 1 1 1 2
4/ ST R E = 7 10 12 22
4/ ERET SR P AT 17 26 27 53
M/ MET AT 0 0 0 0
4/ ST R E 0 0 0 0
4/ ST TR 1 1 2 3




8/ 16 R—

I &t

4/ BT ERIR 3 5 4 9
4/ BT EEE 7 9 11 20
4/ SERET = 11 15 21 36
4/ SERBT = A 9 15 16 31
4/ SERET Rk L 15 21 23 44
4/ SERHT % 17 30 36 66
5/ SERET FR A 23 37 43 80
4/ BT X215 4 11 11 22
5/ FET R & 6 7 5 12
4/ SERETAIE 0 0 0 0
4/ SERET L7 15 26 19 45
4/ FETILRE 11 12 21 33
4/ SFRBTHE L 2 3 2 5
4/ FETF & 46 81 65 146
5/ SERHT 45 BR 1 1 0 1
5/ RET St 563 790 794 1,584
FiEET—TH 89 84 97 181
FHEET=TH 286 400 382 782
FFHEET=TH 55 13 63 136
FiHEET &5t 430 557 542 1,099
T I 49 58 56 114
HARETEIESF 12 19 15 34
R TR EE 96 151 119 270
eI SRS 2 6 5 11
HHMETRIE T 0 0 0 0
R TR 59 68 74 142
HAME St 218 302 269 571

S ARET H 0 0 0 0
SEARET SR F 60 68 72 140
SEARET K #a 0 0 0 0
SEAET K E 0 0 0 0
S ARET H fin 82 79 79 158
SEARET  AEt 142 147 151 298

YA T 107 119 115 234
7 8T 43 45 52 97
1 5+ T 260 306 313 619
J\BE/—TH 138 145 166 311
J\BEB=TH 160 175 171 346
J\BEBT=TH 105 116 132 248
4 B T 344 338 381 719
A HT 3R 54 68 65 133
A H] 273 304 368 672
AHT R 140 162 161 323
AT 134 151 150 301
SR AHT 475 545 573 1,118
JUHT 299 322 326 648
EHT 258 276 282 558
== Hr 585 617 675 1,292
= KT 341 382 405 787
HxHET 399 460 434 894
JEHT 186 231 232 463
FLLLET 307 350 390 740
T S HT 333 378 409 787
L) 371 392 398 790
BT 338 346 405 751
K HET 430 408 427 835




9/16 R—

I il &t

AR T G 1 7 11 12 23
AR BT AR T 17 23 22 45
HaRET K8 0 0 0 0
HRETIEE R 48 47 49 96
HRETR I 0 0 0 0
HaRET)I 7R 31 47 52 99
HaRET IR 27 38 37 75
HRET/NEUR 8 13 18 31
Ha/RET/MLU 0 0 0 0
HRETIRER 0 0 0 0
o IR BT 8 0 0 0 0
HalRET R E 1 1 1 2
HIRETSE 2 3 2 5
AR ET #kF 14 21 19 40
HaRETE L 5 6 6 12
HRETHEA 1 1 1 2
HaRET R 11 12 12 24
AR AT 0 0 0 0
HRETYE L) 0 0 0 0
HaRET K% 0 0 0 0

HRET  &&t 172 223 231 454
WELIP s 47 68 60 128
WELIE Fid 31 30 38 68
LR 1 1 0 1
WELIES 82 96 88 184
RETHEAR 45 69 60 129
TAET—/ 1 18 19 15 34
WELIEHO] 3 4 5 9
WECLIPN-T 49 42 36 78
WELIPN O 80 33 53 86
TRETH/ £ 7 7 9 16
MRETSHE 55 48 66 114
BT E /1l 2 3 2 5
WET) NN 53 62 61 123
raETALL 75 67 60 127
BT 40 39 34 73
WEL PN 41 51 52 103
A ETT R 31 45 48 93
WELIESS 56 66 78 144
MRETAA®T 12 17 17 34
WESLPN:E 0 0 0 0
WELIEE 33 45 53 98
WECLIE =yl 8 10 17 27
WELE- o 44 46 51 97
BT LR 51 64 59 123
BT E 38 51 56 107
BT/ 16 24 20 44
WELINGEG 67 70 A 141
MHRETER 91 91 53 144
WEL AT 39 36 45 81
MHRETE/ R 0 0 0 0
MRETAE 26 21 13 34
WECLIPEES 36 46 39 85
MRETR R 14 19 19 38
WEC LR 37 50 42 92
WEL ol 11 10 11 21
TR E 86 101 64 165
TRETEE /R 106 114 97 21




10/ 16 R—2

] # &t

RETER I 81 123 119 242
WECLIPE! 60 65 73 138
TeETLE 40 46 46 92
MARETER 43 53 56 109
A ETER 54 55 50 105
WEEEIED! 92 101 94 195
BT BIREF 13 13 19 32
AR ETHTE 73 60 41 101
AETERA 17 16 20 36
AETHAE 165 189 177 366
WELIEN 3 4 0 4
WELIEED] 56 70 54 124
WELP: 102 122 120 242
WA 0 0 0 0
WELR:E 80 87 103 190
BB IR 14 16 14 30
BT 132 158 146 304

WE L 2,456 2,743 2,624 5,367
IR B % 3 3 5 8
BRI F 26 33 40 73
FEIEET/VE 6 3 7 10
PR 1 5 1 6
BRI 5F 0 0 0 0
7536 T &7 7 6 6 12
FHBHT & 4 6 10 16
B ET e 10 20 20 40
7HE AT T4 3 4 6 10
FERTEZ 1l 0 0 0 0
P BT A4 24 31 36 67
EERELIEES 9 12 13 25
FEBHTE E L 9 14 14 28
a0 0 0 0 0

AT &5 102 137 158 295
BERTXR 137 A 97 168
BEIT—48A 0 0 0 0
BEETHFA 0 0 0 0
BEETER 8 6 9 15
BEETAA 0 0 0 0
BEETKE 18 18 22 40
B R HTRE 3 4 3 7
HBRET#RE 3 3 1 4
BRI 0 0 0 0
BEETRS 0 0 0 0
RAETK/ |l 10 14 14 28
RAEETOEY 12 17 15 32
BEETEH 24 26 35 61
RAERTERE 60 77 74 151
BRaET=H 5 7 9 16
RaETEE 62 69 59 128
REHtRE 32 32 37 69
BARETS X 17 19 23 42
BRETY OV 25 28 30 58
RARTLE 4 7 6 13
BEETHER 24 33 26 59
BEETRF R 61 79 73 152
BEETES R 0 0 0 0
RAEEZRHE 26 29 32 61
BEETHA 14 18 19 37




11/16 R—2

I &t

BETEL 0 0 0 0
REETERA 9 12 16 28
BEETIRE 6 4 3 7
RARTRE 10 8 3 11
BEETLR 28 36 27 63
BEETERT 16 19 23 42
BEETAE 74 100 95 195
BEETHTE 93 117 95 212
RAETHLE 6 6 7 13
RAE R 7 7 10 17
HBEETEAT 81 94 101 195
BaETEA 52 11 79 156

BEET &&t 927 1,037 1,043 2,080
B SHTEHHE 0 0 0 0
EEHE/ X 3 4 5 9
e SHTH 7 14 3 3 3 6
EESHETH / R# 0 0 0 0
EESHTRE 19 27 22 49
BT IRIR 18 22 20 42
e SHT A8 31 33 16 49
Fée S HT ] 56 61 48 109
Fie S HT SR i 45 46 45 91
e SHTHTIR 15 15 25 40
ESHT8s 0 0 0 0
FeSHTJIIE 42 46 36 82
Fie S HT SE R 44 52 60 112
EESHETAH 9 11 17 28
ESHTRA 6 9 5 14
EERE/ T 39 37 47 84
BEEETF A% 20 13 18 31
FEe S HT 488 35 40 31 A
Fe S ET R4 56 88 79 167
Fe SHET/\F 4 5 5 10
e BT 8 12 4 16
Fe SHETERIL 221 186 234 420
Fe SHTREA 74 87 A 158
EEHE/ & 34 40 38 78
EACTDED] 49 58 64 122
e SHTHERD 26 37 42 79

EESHT &5t 857 932 935 1,867
ST 0 0 0 0
—fIXAW 0 0 0 0
—BHiXE 9 12 11 23
—BHT L Fik 4 3 7 10
— bl 1 1 1 2
— B HTRME 2 1 2 3
—BHIRE 4 3 6 9
—BHT 2% 6 6 6 12
=L 34 54 47 101
—fBHTFik 0 0 0 0
—BHRIE 7 13 9 22
— B HTEM 4 5 4 9
—BHHhEH 13 20 17 37
—GEH/ & 0 0 0 0
—fREFEL 1 1 0 1
— AT EF Y 0 0 0 0
— B HTIRME 3 2 4 6
=LIEYT 3 3 2 5




12/16 R—2

I &t

— & HhT{Ei 18 16 22 38
—E&HTEIE 4 5 5 10
—BHTIE 30 47 43 90
—fETA WL 8 14 14 28
— B HTEA{E 3 3 5 8
— & BT E 13 8 10 18
—BH&T 2 2 2 4

=L 169 219 217 436
& FHTHRE 2 2 2 4
& FHIRAK 54 68 70 138
EFH— /R 20 20 8 28
EFHTHFR 19 25 31 56
& FHT AR 39 44 47 91
EFHrE L 12 16 16 32
& FHTAEH 31 26 31 57
TR L/ 3 8 7 6 13
& TE 48R 1 1 1 2
= FRTRE 16 25 28 53
ETFHFRE 1 2 3 5
& FHIAK 0 0 0 0
& FHTAE 8 7 9 16
= FRTEL 0 0 0 0
& FHTHTIR 36 48 43 91
EFHIFHF 30 35 28 63
= TR 11 9 7 16
& TR £ KP 13 14 13 27
& TR EER 3 5 4 9
EFHTSH 41 49 47 96
o EN=Fi; 27 27 34 61
& FHTILIR 18 26 22 48
EFH=FRK 11 14 18 32
EFHTFFRE 2 1 2 3
TR SR 5 6 5 11
& FHT KM 67 90 103 193
EFHE/ K 15 25 28 53
EFHHRA 1 0 1 1
EFHTRA 24 34 33 67
EFHIRHE 31 46 49 95
EFHEXE 40 54 50 104
& FHTHEE 40 52 53 105
EFHTFH 1 4 6 10
EFREAE 21 23 28 51
& FHTHE 12 12 14 26
& FHTRR 20 30 25 55
EFHTFEEA 17 19 17 36
EFHING 6 7 7 14
£ FHTRHA 0 0 0 0
& FHTRE 43 59 52 111
& FHTRFH 39 56 56 112
= FHIE/ A 28 35 32 67
& FHTHTE 0 0 0 0
& FHTIAZE 38 46 42 88
& FHTE AT 7 7 8 15
& TR EHH 3 2 2 4
EFHLTF 39 51 54 105
EFHETIL/ B 1 1 0 1
& FHTE % E 1 1 0 1

&FHT SE 902 1,131 1,135 2,266




13/16 R—2

i

=5
2 R BT #m 52 14 20 15 35
e IRET SR E 1 0 1 1
R IRET 0 0 0 0
MIRETEE 62 62 66 128
e IRBT TS 42 49 57 106
AELIESN 61 59 68 127
IR ET S 18 F 9 8 12 20
i RET KR 9 13 10 23
iz R BT K1 42 55 57 112
i R BT K8 0 0 0 0
R IRETHRIR 0 0 0 0
IR ET B R 36 38 47 85
MERRXT 4 5 6 11
HRIRET &R 382 464 500 964
M IRET $2 8515 16 24 16 40
2 IR BT RE R 88 103 120 223
IR BT & 47 48 51 99
IR ET Bt 21 35 39 74
WIRET LR T 2 2 2 4
HIRET &I 28 43 29 72
T IRET)IR 52 50 59 109
HEREETEHRET 15 14 21 35
e RETIE B4R 37 46 36 82
iz R BT b Bkt 7 7 9 16
i IR BT AL T 5k 34 42 43 85
HEILER 35 34 35 69
e RET AL %7 E 133 170 175 345
GBS ONIT 160 199 235 434
iz R ETIL KA 41 55 47 102
M IRETIEE 50 62 75 137
HERETILF 3+ 20 18 21 39
HIRETILE 396 456 451 907
e RET L % 76 97 97 194
HIERETILER 62 80 82 162
MIRETEHR R 28 44 39 83
HRETARHE 58 73 80 153
HIERET R 56 79 82 161
2 IRET T 5 A 89 68 157
W IRET &3 77 83 92 175
T IRETTFIIIR 106 138 133 271
HIRETTEH 31 44 45 89
2 IRET 42 30 11 14 15 29
i IRET £ 7] 1 1 0 1
2 IR BT £ B 0 0 0 0
i R BT IR AL 6 10 11 21
iz R BT EH o 28 37 32 69
i IR ET{H 29 38 37 75
M IRET R 95 73 92 80 172
MRETH O 104 130 109 239
iz AT R/ L 2 4 3 7
MIRETR R+ 14 15 18 33
2 IR BT A 19 22 20 42
HIRETREE 43 50 61 111
% I BT P8 i far 76 31 66 97
iz IR BT P4 _E BF 36 36 38 74
2 IR BT P ) EE B 56 63 74 137
WERAER/ £ 26 29 34 63
iz R BT PR KA 17 18 17 35




14/16 R—2

I il &t

M IRETEE P B 29 31 33 64
e IRET A 22 25 25 50
iz [ BT 75 HR A 64 88 83 171
2 IR BT Fa AR U 22 28 16 44
M IRETF 4 E 10 10 12 22
T IRETHE 0 0 0 0
2 IR BT K 30 39 37 76
IR BT/ \ 7 i 6 6 8 14
72 IR BT SR A 1o 21 25 27 52
HIRET R EBF 75 88 89 177
M IRETER L4 46 63 59 122
2 IR BT SR AE1 EE B 70 82 79 161
MEETRX/ £ 21 23 26 49
2 IR BT SR $& 4 46 62 44 106
% IR BT 3R o 4k 12 19 17 36
AELIESS NI 82 143 144 287
HMERETERIET 24 28 34 62
MIRETRF B+ 43 45 47 92
HIRETR H H 31 45 44 89
2 IR BT 3R 4 76 96 92 188
2 IR BT SRAR U 65 82 80 162
HIRETE & 27 22 23 45
2 IR ET /5 B 59 74 74 148
e RETER)1I 23 36 34 70
2 IR T BB 66 95 102 197
2 IR BT AT BB 35 28 28 56
2 IR ETRITER 75 121 125 246
iz IR BT = Jh BT 70 84 84 168
2 IR BT 1 48 48 40 55 95
2 IR T A HT 53 60 A 131
M IRETRE TS 43 47 60 107
7% IR BT R $& 14 17 18 35
% I BT R o 4k 21 29 35 64
e RBTEI /ML 5 4 4 8
HIRETRE R 73 80 89 169
i IR BT RA %7 77 65 83 148
iz R BT B R L 115 172 145 317
2 IR BT R K A 3 30 37 31 68
e IRBTR T 57 86 85 171
M IRETRE P B 24 27 36 63
i IRETRE 4 23 32 30 62
i IR BT R 7% 28 33 30 63
M IRETRE R 34 40 37 71
e IRETER TR 27 37 31 68
HIRET#RO 3 5 4 9
2 IR BT 400 R 8 12 8 20

MIRET A&t 4,783 5,809 5,954 11,763
FHET RS 0 0 0 0
FHET R 9 10 12 22
FEHET IR R 24 30 34 64
FEHET IR R L 5 8 7 15
EHITZEET 29 35 31 66
78 ETth B 37 47 51 98
FEHET— K 47 47 50 97
FEHETRE A 0 0 0 0
PR TR A R 10 10 12 22
PR AT AR A L 0 0 0 0
AT IR 16 21 19 40




15/ 16 R—2

I tH H 5 z &t
P AT R RN4A 25 33 26 59
FEIHET KR 25 36 35 A
BRI K 11 14 14 28
PR AT KRR 0 0 0 0
FHET KB & 0 0 0 0
FHETRA 7 A 13 21 17 38
AT R 50 37 30 67
FERATERA LT 0 0 0 0
FRETHT S E 4 7 7 14
FEHETEIR 9 13 17 30
FaHET L 2Rl 1 1 3 4
FHETH AR 50 61 67 128
FEIRHT IR 37 45 44 89
FEHET A E 0 0 0 0
FEHET#E 7 A 5 6 6 12
FHETIL R A 46 58 66 124
FEiHATIE< C 4 5 6 11
FEHETIL KN 4R 64 69 82 151
FaiHETIL / 1 0 0 0 0
FEiHETIL 48 52 66 61 127
AT S5 67 87 93 180
AT RLE 13 15 20 35
FHETILFI R 37 58 50 108
FEHATOE LT 4 4 4 8
AT S 2 2 1 3
AT R 26 32 28 60
FERET/MEST A 3 5 4 9
AT/ MEE 4 4 4 8
TR ET R BB R B B 41 46 50 96
R =R E 8 14 14 28
FEHETIEA 23 15 24 39
FHIRET T i 53 69 68 137
FEHET T 2R 1 1 1 2
PR ETET A 0 0 0 0
AT EE 0 0 0 0
PRI E S & 81 84 83 167
FEHETE AL 0 0 0 0
FEHETE 1L 0 0 0 0
AT SLERLL 3 5 6 11
FERETE 7 6 5 11
78 ET E A 10 14 16 30
FHET R ER 56 75 72 147
PR T R 0 0 0 0
FEHET R 0 0 0 0
75 37 T 7 4R 13 11 12 23
FEHETEE / A 0 0 0 0
AT R E 18 22 26 48
7aHET G S4E 113 114 130 244
FEHET R L 13 18 17 35
783HET B B 43 52 53 105
PRI R 20 26 20 46
AT FA 3 2 3 5
FaHETEE 4 6 3 9
FHATR R 29 34 42 76
FEHET R 0 0 0 0
PR E 4 54 69 60 129
PR HT 5 4 I 18 19 20 39
75 R T BRI 5 13 13 16 29




16 /16 R—2

I il &t
FEHETR—K 21 21 20 41
FERETRAR A 13 16 16 32
FEHETHIE 5 8 6 14
FEHETIE D) 11 17 16 33
FEHET AR 0 0 0 0
FEHETAILE 18 17 20 37
PR T35 37 39 47 86
FEHET AL 11 14 22 36
FEHET LI 16 21 20 41
FIHET &R 18 25 21 46
AT KE 0 0 0 0
FHETET 0 0 0 0
FHETRIRE A 34 51 52 103
PR R 47 1 66 77 88 165
FiHETE < C 3 4 3 7
FEHETER 0 0 0 0
75 H BT R RN 4R 77 78 83 161
PR AT R S 4E 66 95 74 169
FHETR R 15 63 85 76 161
75 A BT R BA AR 1 1 1 2
PR = #TE 37 39 40 79
FH R T = i 0 0 0 0
AT E R 0 0 0 0
FEHETEAHA 17 23 18 41
PR AT L 0 0 0 0
AT R 31 46 42 88
FEHETE L 2 2 0 2
FEHET ML 57 87 87 174
FEHETFIE 16 21 22 43
FEHETF L 0 0 0 0
FEHETHIR 0 0 0 0
76 37 T L0 14 20 19 39
FRATREE 81 89 91 180
iRl AN A 1 3 1 4

e &Ft 2,069 2,501 2,927 5,028
AT At 31,786 37,111 37,977 75,088




